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SOCIAL WORK
Paper II

HUTSTRTE
goatent 11

Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This Paper contains Fifty (50) multiple choice questions. Each question
carries Two (2) marks. Attempt All questions.

A ¢ A FIAULEh THYT UATH (50) g0l U9 STled. Fodsh WA & (2) T[0T 3Tea.

LN ~
qd =T ST e

1. Feminism focuses on : 1. foaEmE oF{g\i‘@icC\ o

(A) Recognition of female
domination

(A) wfgar=n gyEmE q=d
(B) fo=n smm TR

(B) Subordination of women’s

labour (C) wfgar=n yfiehan whR

(C) Acceptance of women’s role .
P (D) geu=a YfHeh=r iR

(D) Acceptance of role of male

2. Disaster management strategies

should be : (A) gfdfsraras
(A) Reactive (B) T"mﬁﬁ‘eﬁﬁ
(B) Proactive
(C) JIRIHH
(C) Counteractive
(D) Demonstrative D ¢
3. ‘Apartheid’ refers to ......cccccevvvvvvnnnnns 3. ‘omifagw’ worS REES
discrimination. (A) HEIRSR
(A) Social
(B) TSI
(B) Political
(C) Racial (©) =i
(D) Economic (D) st

3 [P.T.O.



4.

Assertion (A) :The inclusive
growth approach
takes a long-term

perspective.

Reason (R) : The focus is on
productive
employment as a
means to raise the
standard of living of
the poor and
excluded groups
through increasing

their income.

Choose the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

4.

MAY - 20216/II—D

faam (A) : gdgAEIS gfgart
STEfeTeT  gseTahid
TRl

®NUT (R) : IMET H5(9g IcAGH

USRS, <= T
0T STEHTCTR TR

3cqy—ld dle

ch A
TRUMTHMEMET TSl JTefao
TH.

o

Erelt foded Sshaisgd A I

:
|5|5|€I :
. .
.
:

(A) (A) 9 (R) TGl sR@RX 3R ST
(R) ® (A) 3 3T TIF0T R

fay

(B) (A) 9 (R) T

IS 3TMed 0T

(R) T (A) & 3TH TR TG

(C) (A) & sUsK M€ 991 (R) & I
Sl

D) (A) & IF M 901 (R) & TN
S




Child helpline no. is ......ccccceeeeennnn. .
(A) 1084
(B) 1098
(C) 1007
(D) 2001

............................... is associated with
National Alliance of Peoples
Movement (NAPM).

(A) Anna Hazare
(B) Arvind Kejriwal
(C) Medha Patkar
(D) Rajendra Singh

.......................... is development that
meets the needs of the present
generation without compromising
the ability of the future generations

to meet their own needs.

(A) Social Development

(B) Sustainable Development
(C) Inclusive Development

(D) Economic Development

MAY - 20216/II—D

ATARTH ASd HIUH ZoTaIed 7. 8 38 ¢
(A) 1084
(B) 1098

(C) 1007

(D) 2001

I STAIE % TU9ey Hegh=ei

(B) 3Rfog sheifiard
(C) T UrEal

(D) T o

BUTS 3T1 faerrg S wiasardia

fud=an qHael desite 9 idl adHM

o~

U= TRSM 9TTeal.

(A) 9HINTR faermg
(B) Ir=q fa&™
(C) THEwEs faw™

(D) 3Tfefer foehma

[P.T.O.



Right to Information Act came into

existence in the year :
(A) 2004
(B) 2005
(C) 2006
(D) 2007

Assertion (A) :The core domain of
CSR goals are triple
bottom line is
people, planet and
profit.

Reason (R) : It is the commit-
ment of business to
contribute to sus-
tainable develop-

ment.

Choose the correct answer from the

codes given below :

Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

MAY - 20216/II—D

(A) 2004

(B) 2005

(C) 2006

(D) 2007

faam (A) : fo.T@.sm. (CSR) =
yHE 9 H-d@ en
RS —@leh, UT ST
TH B

HRUT (R) : e IRad faenmar=

qNeMEE SENE 3-

Tifac T8 U

Trell feded Heahdldhiqa a1 ST

IREEIRE
et
(A) (A) 9 (R) S IR ATgd 3Tl
(R) T (A) ¥ T IR 3T

(B) (A) T (R) el SRR 3Med I
(R) T (A) o T TILIHI AR

(C) (A) ® e} 3M8 90 (R) T I
EIE

D) (A) § I AR T (R) § TN
EIE




10. Assertion (A) :India is unlikely to

achieve all the
Millennium
Development Goals
(MDGs) set to
improve its various

social indicators.

Reason (R) : Indian political
system and social
policy framework is

a major hurdle.

Choose the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

MAY - 20216/II—D

10. faam A) : fofay gmfser Avera

guR fAfved soamEret
I, Teeleh Ty &

Shelfad U s IR

L.

&RUT (R) : YRAE USohid Hae
ATfor |WTETSTS  ENYOT

A ¥ UHE STEY

TR

o N

@l fooiedn Hhdreqd I 3T

:
|5|6|€I :
. .
.
:

(A) (A) 9 (R) Tl =R 3ARd 1o

(R) T (A) ¥ 3T TIRIHI 3T

(B) (A) & (R) Il SRR 3TRd q0
(R) T (A) T T TILHI AR

(C) (A) & s 3E 9 (R) & gh
Sl

D) (A) & IF IR T (R) § TN
Sl

[P.T.O.



11.

12.

13.

Social Action is @ ..ccceeeeeeeeeeeeienin.
method.

(A) Primary

(B) Secondary

(C) Additional

(D) Tertiary

The oriental philosophy means :
(A) Ancient

(B) Eastern

(C) Western

(D) Modern

Which of the following is the core
skill required in social work
practice ?

(A) Resource mobilisation

(B) Communication

(C) Co-ordination

(D) Planning

12.

13.

MAY - 20216/II—D

(B) g=H

(C) Ik
(D) T

ARUeA IO =UN
(A) =

(B) e

(C) Tifs=rmre

(D) 3R

[ AN A ~
SHISIen[dld Clfcdlcdlen]  enlVicdl  Hed

FIRTCATE] STEvaHhdl 3T 7
(A) TR A

(B) T

(C) w9=H

(D) fE~H




14.

15.

According to whom social work deals

with economic well-being and

sources of happiness for people ?

(A) H.H. Stroop

(B) G. Konopka

(C) Friedlender

(D) B.E. Younball

Assertion (A) :The
professional social

role of

worker is
empowering and
capacity building
of the oppressed
the
marginalized

and

sections of society.
Reason (R) : Professional social
workers have
requisite skill and
sensitivity to deal
with the problems
of such sections of
the society
Choose the correct answer from the
codes given below :
Codes :
(A) Both (A) and (R) are correct and
(R) is the correct explanation
of (A)
Both (A) and (R) are not correct
(A) is correct but (R) is wrong
(A) is not correct but (R) is

correct

(B)
©)
(D)

14.

15.

MAY - 20216/I1—D
HITT Hd GHSTRTE § AlhIETe!

3N faehTa 9 ST &id AE HEd

A ?

(A) TATE. T

(B) . I

(C) fireeiex

D) 2. T

faam (A) : =m@EEfas -
FRiRC Yfent TS
TS desrTesTdie o
FEHT= TS aetehiu d
gHaT g g

&ROT (R) : <Amadifas 9HIS-
FhAhe A
JIIM TeT=AT HET
BIATBUATHIS!  3Tavdh
T F HogAvierd
7.

@l foded ghdreqd a1 S

et

Gehdich :

(A) (A) 9 (R) T2l &I SsL 3f1ed 107
(R) T (A) 3 T TRH TR

(B) (A) 9 (R) TI=E Ih 3T

(C) (A) ¥ SR M, T (R) & IH
e

D) (A) & I& 3@, 907 (R) B SN
e

[P.T.O.
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16. The Constitution of India provides | 16. wRd™ WiaumNa ayd AEHR :
the fundamental right :

(A) gufa=n Afer
(A) Right to property

(B) Right to equality (B) FHET SR
(C) Right to leisure (C) ST 3TERR
(D) Right to welfare (D) Ao SATHHR

17. Assertion (A) : Resurgence of civil | 17 fgeam (A) : T 99 ITE

society believes in .
Y qygrg AT T
resurgence of

Tee AR faverd Sad.

autonomy of
communities and RO (R) : USfHg Acged annfor
collectives of .
NEEID] LRSI
people
HacIRUMeR faeamd o
Reason (R) : They don’t believe
. e
In empowerment
of political leaders aet feaea Hehdieigd AT 3T
and parties. frer -
Choose the correct answer from the D .
) Hehdiah :
codes given below :
Codes : (A) (A) g (R) SI=I s e 3700
(A) Both (A) and (R) are true and (R) & (A) 9 R SO R e
(R) is the correct explanation (B) (A) 9 (R) T8l o= TR 90

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct

(R) T (A) ¥ 3T TIRIHI0 R
(C) (A) & SR 3¢ 90 (R) § IH

explanation of (A) 3R
(C) (A) is true but (R) is false D) (A) B IR e T (R) § SsK
(D) (A) is false but (R) is true S ES

10



18.

19.

‘Swadhar scheme’ is concerned

with :
(A) Women Prisoners

(B) Women survivors of natural

disaster
(C) Physically challenged women
(D) Women victims of terrorism

The following are pre-requisite in
order to register a social welfare

organisation :

(@) Good intensions and social

consciousness
(6) A Memorandum of Association
(¢) A group of individuals

(d) Aims

Association

and objectives of

Choose the correct answer from the

following codes :
Codes :

(A) (a), (b) and (c)
(B) (®), (c) and (d)
(C) (a), (b) and (d)

(D) (a), (c) and (d)

18.

19.

MAY - 20216/II—D
‘TR ST AT Hetid TR
(A) Hfge STae

(B) Hfifeh MU ameaciean Afgal
(C) 3uT Hfegel
(D) STAhaRHes &faus Afgan

THTSTH AT Fee= IRy i

ATEYTSR AT :

(@) =T Bq ST |HARS i
(b) ¥

(c) SKIT=1 HHE

(d) TE= &g S S8

(aV o

fSoiean FehdTehqd 3Teeh AT

fere =0
Hehdich :

(A) (a), (b) T (c)
(B) (b), (c) T (d)
(C) (@), (b) T (d)

D) (@), () T (@)

11

[P.T.O.



20.

21.

The demographic transition refers

O i .

(A) An increase in the birth rate
(B) An increase in the death rate
(C) Vertical growth in population

(D) A change in the ratio of birth
to death

Assertion (A) : Homelessness is
steadily growing
as a phenomenon

in India.

Reason (R) Housing is
becoming unaffor-
dable the

common person.

for

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) i the

explanation of (A)

1s not correct

(C)
D)

(A) is true but (R) is false
(A) is false but (R) is true

20.

21.

MAY - 20216/II—D

ARHEAe a]el TN

(A) S o8

(B) UGS a1

(C) S a1e

(D) S SO HGUTe TR JHIOMI

EHS!

faem (A) : YR FAER ArRTAT
e g o 3.

HRUT (R) : HAHYRU Feell =R
TEl HO T TISUM
TR,

Tet feaea Hehdiergd AT 3T

IREEIEE

et

(A) =T (A) 301 (R) s 1 (R)
T (A) T TH SRR IR

(B) Il (A) 31T (R) RIeR 3Ted W
(R) T (A) ¥ 3T TIRIHII e

(C) (A) ¥ sR 3’ Wg (R) & 9%
318

(D) (A) & I 38 Wg (R) T IR
3

12



22.

23.

Farmers suicides are generally
attributed to :

(@) Change from food to cash crops
(b) New economic policy

(¢) Depression among farmers

(d) Industrial policy

Select the correct answer from the
codes given below :

Codes :

(A) (a) and (b) are true

(B) (a), (b) and (c) are true
(C) (b) and (¢) are true

(D) (a), (b) and (d) are true

Current debates around the land
acquisition bill revolve around the
following clauses :

(@) Consent clause

(b) Social impact assessment clause
(c) Special economic zones

(d) Compensation clause

Select the correct answer from the
codes given below :

Codes :

(A) (a), (b), (c) are true
(B) (a), (b), (d) are true
(C) (b) and (c) are true
(D) (a) and (b) are true

MAY - 20216/II—D

22. WTATA AT HB VAR SATCHEAT

Hedld.

(@) STHUTAT IURATIYA SR
frwmel acd

(b) oA oAtk &Rl

(c) Tdh-ameiel SErA=a

(d) STeEnfirr g)o

@rell foeiedn Hehdlhlqd 3T SadrH]

as &1

Hehdiah :

(A) (a) 3T (b) IR 3

(B) (a), (b) M (¢) T 3TRd
(C) (b) MU () TR 3T

D) (a), (b) AU (d) sASK 3ATed

23. qeafeydid gyt e fagumra

IVl SeeR Rfaag eided 2
(@) S

(b) WIS UHE TR

(c) foure omfder &

(d) THAFTE

@rell foeiedn Hehdlhlqd 3T SadrH]

e =0

Hehdieh :

(A) (@), (b), (c) T SR A
B) (a), (b), (d) & SR A&
(C) (b) 3T (¢) B R 38
D) (a) 3T (b) B SR 3

13

[P.T.O.



24.

25.

26.

The theory of moral development

among children was proposed by :
(A) Skinner

(B) Kohlberg

(C) Piaget

(D) Bandura

The proponent of ‘Need for

Achievement Theory’ is :
(A) McClelland

(B) Maslow

(C) Herzberg

(D) McGregor

Which of the following is not a
role of a caseworker in a school

setting ?

(A) Assessing reasons for children’s

scholastic difficulties

(B) Counselling parents

(C) Working with teachers to

enhance students well-being

(D) Assisting children through

academic inputs

24.

25.

26.

MAY - 20216/II—D

~

faerTaTeial T

10T Q&R hell ?

EIGEA I BTG ED

(A) IR
(B) it
(C) Tt

(D) A

o ha¥

Gl

TSIt SR 10T BId 2
(A) HeRiels

(B) et

(C) wtert

(D) HRIR

M A eIl Hard  hriehdrd

Weftedeh! HIvt fe A& TR ?

(A) gaT=ar vmedsfad guEardt
SHIOTHHTET

(B) T GEWRYE w0

(C) TorerrTeRieR qarr=n fashme garame
HE H

(D) ToIeomgR g1 #ed o)

14



27.

28.

29.

Who
therapy ?

(A) Carl Rogers
(B) Anna Freud
(C) Paul Goodman
(D) Addler

proposed client-centred

Problem-solving model is related
to :

(A) Gladstein

(B) Perlman

(C) Mary Richmond
(D) Garret

Which of the following is a type of
classified diagnosis by Helen
Perlman ?

(A) Current diagnosis
(B) Medical diagnosis
(C) Clinical diagnosis
(D) Therapeutic diagnosis

27.

28.

29.

MAY - 20216/II—D

ST f5d STARTGAT HIv JT&hHa
el ?

(A) e W
(B) 311 wiss
(C) dld T[eHq
(D) e

T faRo UeY ¥ IRt Seted
T :

(A) Tefefed

(B) Ueiwd

(C) W f=ve

(D) e

WIEAATeh! IV U5d & ool JerHT=

Tl M Tgdal YR 3T ?

(C) Tufasges feM

(D) SYERIcHe e

30. Empathy means :

(A) Moods of the person 30. eﬂgﬁfﬁ ; :

(B) Feeling with another person (&) T

(C) Development of an emotional (B) g8 SHRAISAET e
perspective of the problem (C) THLEETAT HEeh Goeieh U]

(D) Need to understand the person’s e
problem (D) K= THE SUE Sl TS

15 [P.T.O.



31.

32.

Who is closely associated with the

study of ‘Group Dynamics’ ?
(A) Ruth Smalley

(B) Grace Coyle

(C) Kurt Lewin

(D) Bales

Assertion (A) :The practice of
social group work
is important for

social action.

Reason (R) : Social Action is
essentially a group

work activity.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) the

explanation of (A)

is not correct

(C) (R) is true but (A) is not true

(D) (A) is true but (R) is not true

31.

32.

MAY - 20216/II—D
T2 Tfasiiera=n SrEEe Ui Eetierient
FHIV oAl FEUd g ?
(A) ®9 A
(B) 9 &
(C) Hd wa
(D) <™

fagam (A) :  TEHEET I ISR

HATETEl Hewaqul ST

HRUT (R) : IS Sl & AT

I T FHHTdA SUFHH

3R,
@il Tehdishidid Arg gl fae
{0
H@H‘I%E b
(A) (A) g (R) Sl seR 3TTed 30T
(R) T (A) ¥ T IR 3T

-~

(B) (A) 9 (R) Tr=t siIe” 3Ted 907 (R)

T (A) T T TIEHI R

(C) (R) & SR 3¢ T (A) T IH
3T

D) (A) & S0 3R 79 (R) € IH
S

16
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33. The following are included in basic N a _a .
33. WcilclYehl <higl hRICATET TS hI=Al
skills of social group work : e 5 R
(@) Skill in purposeful relationship @ § eTEeE e
() Skill in rogramme ..
pros (b) A faRmEEEEd SR
development
(¢) TRAIAIESIY I
(¢) Skill in communication
(d) TTa IR
(d) Skill in leadership
@et fooien gahareda arg a9
Choose the correct answer from the
. ferer ¢
codes given below :
Codes : :
A) (a), () and () (A) (a), (c) T (d)
(C) (a) and (b) (C) (a) 9 (b)
(D) (a), (b) and (c) (D) (a), (B) T (c)
34. Which one of the following is not a | 34. Wcicideh! U 7€ Yiha=n W TS
part of group processes ? I ?
(A) Sub-group A)
(B) Group diagnosis
(B) TefRH
(C) Group meeting
(C) Teseh
(D) Isolation of a member in the
group (D) e HEEE faerT
17 [P.T.O.



35.

36.

37.

Which of the following is a reference

group ?
(A) Occupational group

(B) Group taken to evaluate one’s

own aspect of life
(C) A relatively larger group

(D) A group which allows for social
mobility

Characteristics change tactics and

techniques in social action is :
(A) Consensus

(B) Consensus or conflict

(C) Conflict or contest

(D) Group discussion

Building consensus is one of the
characteristic method of the following

community organisation model :
(A) Locality Development Model
(B) Social Planning Model

(C) Social Action Model

(D) Social Participation Model

35.

36.

37.

MAY - 20216/II—D

Ectciteht hival Hed e 3T ?

(A) &S e

(B) W= SaAfIsTeh  JedehATEe]

Tde T
(C) TEEM= i3 T
(D) HHIfSIeh TIfqeiiedd TRami SO

RIrA

TSI FHeHed afyTseaqul agd IeRit
ERGERR-A S I

(A) Ao wSfod

(B) Woem fepan fadig (W) ahaol
(C) fortar fehan smem e

(D) Hqg ==

TTeleieh! THR™ GEeAd HIUK UIEd
e aTeEfauarETel Sftrseyul ey ?
(A) e fashr wr&d

o )

(B) 9mHISTeh T

-
S HiwY

(C) WIS Fel &Y

(D) TSR G4l 9r&d

18



38.

39.

40.

The principle of inter-group
approach in community organisation
has its roots in understanding of :

(A) Communities within comm-
unities and overlapping and
inter-penetrating communities

(B) Secterian groups within
communities
(C) Caste and class groups in the

communities

(D)

Individuals and groups within
communities

Who wrote the book “Community
Organisation for Social Welfare” ?

(A) McNeil C.F.
(B) Kuenstler Peter
(C) Khinduka S.K.
(D) Ross M.G.

Social system approach in
community organisation practice
examines the :

(A) Local social functions
performed by members of
community

(B) Prevailing discriminative
practices among the members of

community

(®))

Human Resources available in
the community

(D) Division of Indian Society in

different Varnas

38.

39.

40.

MAY - 20216/I1I—D
I FEEARHTA  ST-Te hRigsel-
HATEMY  hRTd

AT dxATH

Aqe ?

(A) TSN TR 9 IAresied

ST ATR-Tow TS

(B) THSHNIE HYSToeh Te

(C) FeEMHia a7 v 9qg

(D) TS SHekil 0T T8

TS SHEATUIEIE! TR Foed (hgfe]
SRR ®R HiiFTd daheR) ©
& wh fafea ?

(A) Hehfddd H1.UF.

(B) shuer fuex

(C) fags wa.

(D) ¥g THSH.

TS HHeA UG IS Saed
gSeIhId (HTATSAT) HEMS GIH&T0T
A ?

(A)

TS Fee=l IR 9T

ToTfeh grIfSieh i

(B) 9HIMTGA deeAHEte yafad
YA ANTIH

(C) HHSATd 3= 3THAd HA]
TETEA

(D) YR TS fafay soiaes e
IEKISE|

19
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41.

42.

43.

Social work research primarily

focuses on :

(A) Social work intervention
(B) Social welfare programme
(C) Social welfare policies

(D) Social work administration

Which one of the following is not a

probability sampling ?
(A) Systematic sampling
(B) Stratified sampling
(C) Cluster sampling
(D) Quota sampling

A researcher who has already some
knowledge about a phenomenon but
he/she wishes to know more about,

adopts :

(A) Exploratory research design
(B) Descriptive research design

(C) Explanatory research design

(D) Experimental research design

41.

42.

43.

MAY - 20216/II—D
qrTfSTeh T TN YEId: ¥ R o

(A) TS S AeEEedt

(B) AR hedu A
(C) TUNI e R

(D) THIST i HITEA

ETATeTIeh! IV HATA TA1 fere qgd
& ?

(A) HerEerelg T Tere

(B) g g1 fHae

(C) Yot -1 Fae

(D) kel 91 e

TEE HeEeR Teren ferdemed e

AP A WX ;e feudiarEd

Aferen SO =A™ dl

TCHeTieh! heMal STacd Hidl ?
(A) STEUNTHE HINEA SRS
(B) aUAIcHs HRNEH SRS

(C) TIETHIUMCHS: HNEA  SNES]
(D) WrEfiTeh ERieA ST

20



44. Match the following for their

association and choose the correct
answer from the codes given below :

MAY - 20216/II—D

44, wret foded AT IramEEHia TER

HAYTAT YR 3Teh Sieal o ST
e fodean Hhdishidd AT 3l

List I frerer -
(z) Karl Pearson RIC |
(i) Student El:)') aﬁj"‘jﬁmﬁ"
(z11) Wilcoxon i
(zv) Man-Whitney (L:ii) m

List II (iv) HI-feeet
(1) T-test 1) F-3= RLCUB L
(2) U-test @ T
(3) Chi-square 3) PE-TIR
(4) Sign ranked test @) T fEe e
Codes : HEaiE h

@ @ ) () 0 G Gi) @)

A 3 1 @ @ A) 3) 1) @) (©2)
B 2 @O @ O B) 2 1) @ ©
© @ & @ @ € @ B @ @
D 2 B @O @ D 2 B @1 @

45. Consider the following statements | 45. wreiiel faum Ao FROM=T fo=R &
and select your answer according to wel feoiedr gahdisdial AT 3T
the codes given below : et .

Assertion (A):In quantitative faam (A) : FEaTTHs gyneEsd
research, resear- GRNEh STITTH YA
chers prefer to have HTET <. .
hypothesis. &RUT (R) : 9&IcHs 9Ny
Reason (R) : Quantitative rese- HeTd: Tt e
arch is primarily .. TR ST e,
based on deductive Hehelich
paradien (A) T (A) T (R) ssR 3Ted
Codes : (B) Tl (A) 9 (R) Tehid 3Ted
(A) Both (A) and (R) are true ©) g?% & TR A T (R) ﬂﬂﬁ_\‘)
(B) Both (A) and (R) are not true
(C) (A) is true but (R) is false D) ?‘I%% TR 3T T (R) T IR
(D) (A) is false but (R) is true
21 [P.T.O.



46.

47.

The Sexual Harassment of Women
at  Workplace
Prohibition and Redressal) Act was

passed in :

(Prevention,

(A) 2014

(B) 2013

(C) 2012

(D) 2011

Assertion (A) :Affirmative action
is a  positive
discrimination.

Reason (R) : It protects the
interests of a

particular margi-
nalized section of

the society.

Choose the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) i the

explanation of (A)

1s not correct

(®))
(D)

(A) is true but (R) is false
(A) is false but (R) is true

46.

47.

MAY - 20216/II—D

FTaTEl fewmfl Afgai= wifTes S
(wfqerr, sigT 37for FARIhRToT) STl shIvren
ol gRid S ?

(A) 2014

(B) 2013

(C) 2012

(D) 2011

faam™ (A) : BHERCHE  Fd B

THRHS 95 e

HROT (R) : FAMMS fafire HiHid
Teft fodean gahdiewra A 3w
IREEINE

et

(A) (A) 9 (R) SI=I sRIeR 3TRd 3Tfv
(R) T (A) ¥ T TIRIHI 3T

fal

(B) (A) 9 (R) =l
(R) T (A) 3 T TILIHI TG

IS 3TMed g

(C) (A) & S0 3R 79 (R) & 9H
Sl

D) (A) B g M8 T (R) B SN
S

22
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48. The role of social women in school | 48. ¥MF &d FHATSTRERA  YfHET
Setting is ..ooveveveveeernnne. . IV WEUE A 2
(@) Preventive (@) Ffq@HHS
(b) Rehabilitative (b) GAAGAHS
(¢) Enabler c) WH
(d) Mediator (d) A9
Choose the correct answer from the aret feeen H’d:»cll’dolq\d I I
codes given below : IREEIE:
Codes : Hehdiah :
(A) (a), (®), (o), (d) (A) (a), (6), (c), (d)
(B) (), (b) (B) (a), (b)
(C) (@), (b), (c) (C) (a), (B), (c)
D) ), (0 D) (), ()
49. The Prevention of Corruption Act | 49. YER Wfqe€eh HEGT SV a8 IR
was passed in the year : E LS
(A) 1998 (A) 1998
(B) 1988 (B) 1988
(C) 1978 (C) 1978
(D) 1987 (D) 1987
50. ‘Passive euthanasia’is .............. : 50. ‘faftsha g=emio’ wUN
(A) The withdrawal of life support (A) TS S TR Omel hred
to patients kil
(B) Allow to take lethal injection B) gw SO G A A
(C) The withdrawal of food (C) 3= 0 F2 FO
(D) Allow to suicide (D) RSl WA 20
23 [P.T.O.
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